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4325-C
M.A. (Previous) Examination, 2017

ECONOMICS
Paper-V(C)
(Agriculture Economics)

Time : Three Hours
Maximum Marks : 100

PART - A(@UE-37) [Marks : 20
Answer all questions (50 words each).
All questions carry equal marks.
i W A ¥ | e T I IO v o S
T} Al F 3T FEHE T
PART - B (@u=-9) [Marks : 50
Answer five questions (250 words each).
Selecting one from each unit. All questions carry equal marks.
TIE SRS W Ueh-Teh W91 I g0, T Ui W99 it |
Woieh 9 I 250 WISl § AT 7w
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PART - C (@ve-H) [Marks : 30
Answer any mwo questions (300 words each).
All questions carry equal marks.
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PART - A
(@vs-ar)
1. Answer all the following :
ﬁﬁ???ﬁfﬁ??ﬁ??ﬁﬁiq:
UNIT -1
(F#TE-1)
(i) Differentiate between industrial economics and
agricuitural economics.
Ffa s1eiwre T Sl s F 9 i
(ii)  What are the disadvantages of traditional peasant
farming.
T = ERE Wue @y et E
UNIT - I1
(FHTE-11)
{1l }  Define the blue-revolution in India.

Wi | St w0 wiafig =6

4315-C/1520 2



(iv) What do you understand by ‘social-forestry’ ?
IS STl | 39 91 Hyg §2
UNIT - 11T
(ghTé-111)
(v) What do you mean by rural labour supply ?
Tt ggfd & strae = wrfigs §7
(vi) Whatis the tenancy reform ? Explain.
THITTHN IR 740 2 2 faa=m Hifed |
UNIT - IV
(FHTE-1V)
(vii ) Explain the role of cooperative banks in reconstruction
of rural economy.
T s F TIRAT  vew S A s
WY |
( viii ) What are the causes for inefficiency in the system of
agricultural marketing in India ?
WRAT FT forqum Tgfs o sTgpvemn & s wro §2
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UNIT - V
(gHTE-V)
(ix ) What are the problems of globalisation ?
VBT 1 T HHE g 2
(x) Describe the present status and share of Indian

agricultural commodities in international trade.
Y =R o g v aege w5 adaE i
ue feE e |

PART - B

(Eus-9)

UNIT -1

(3TE-1)

2. How agricultural developemnt is related to environment in rural

areas. Explain.

refror & 3 i foreers gatoror & 9 weAfed 32 e &)
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Describe the characteristics of agriculttural indusiny.
Firma w2 %1 wpg foxma =i %1 9u Hife
UNIT - 11

(geRTE-11)
Describe the progress in communication secter i last iwo
decodes in India.
fos ) g ¥ v d gu &3 ° g wfa w A EhEa
Explain the role of infrastructure in economic development.

aTfefer T & anuRsg doa &t i 1 faasT wifed

UNIT - IIT
(ZRTS-111 )

Explain the main problems of agricultural labour in India.
e § s gfvl F1 gen Tenst #1 A wi |
What are the main trade of Non-agriculturai rural

employment? Explain.

- Tt WET TR F qe T 9 €Y
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UNIT - 1V

(FTE-IV )
8. Explain the factors affecting marketing cost.
fauors e w1 gifad S 9 a) H e ST
9. What is NABARD and how it is helpful in rural agriculture

economy.
‘HErS’ w1 § 2R Tw uriw iy aredereen ¥ fow FR gemw
22

UNIT -V

(3FE-V)
10. Explain the role of subsidy in agricultural inputs.
FIT ST  wfewEt (eTIa) % dem ) wy W
11. Explain the new trends of agricultural developu.~~t in India.

A § Y fowm =t w2 yofw = w9emd
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PART - C
(Tvs-¥H)
UNIT -1

(z=rE-1)

12. "Agriculture is the engine of economic development” critically
analyse the statement.
Yy i fawm w1 ISH R 1 99 wuw @ wee
UNIT - 11

(3%T3-11)

13. Explain the importance of livestock in Rajasthan. What are
the problems of livestock development. Give suggestions to

solve these problem.

w&wqﬁwm%mﬁﬁﬁmm|mﬁmw
Wﬁwmﬁ%?wmﬁaﬁwmﬁ%mw

=g |
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UNIT - 1I
(ZeRTS-111 )

14, " Agcalture labour is the main factor of Indian Rural Poveriy.”
Expiain this statement.
CapEm i Sd # g deed $f8 gt €17 3 e
=l YiE Fned |
UNIT - IV
(THE-IV)

. What do vou mean by stabilisation of agriculture prices. Explaimn

-t

e

its reed and importance. What are the causes of fluctuation
i mericultural prices.
Fi west F fapimo @ o3 W wEee §7 3RE] STvaEd
w2 T & I F -TEE o ®IAal o SAR- 95 4
mmen &2

UNIT -V

(3eTE-V)

6. copiain the rate of wor!d trade organization (WT0) in Idian
aoricvtaral dev eloprent.

L oriu TaEE H favg O WTeA W 4imEs F oA
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